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9" (z, 2" w) = gola,2’; w)
+/ / drydzs gy (x, x1; w) T(21, Te; w) gh(xe, 2’5 W), (115)
T(z,2'; w) = V(x)o(z—2) +/ dz" V(x) gp(z,2"; w) T(2",2'; w) . (116)

00000 GreenOO go 001000000000 0O0DOOCO0ODOO

. , oo dp eip(w_$,)
go(r,2'; w) P R
—o00 2T w — Qme + 120t
B { —jeklr=Tl o w >0

/ 117
—e Tl w< 0 (117)
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0000k=V2mw, v=4k/m, kK = 2m|w|, v=r/m 0000000k, v,
k,v U0 w0000 oooooboooooobbooooooon
w>00000

0000000000000 V(x)OO0<2x<LOO0O00O0O0O0OOOOOO
00 z<0000 z>L00 V(x)=0000000000000000O0O0OO
000 000000000000 ¢0(x)=¢* 0000000(115), (114) O
(117) 0000000

. ;L L . .
du(r) = ™ — %/0 /0 drydry eFT= 2 T (2 20 w) e*72 | (118)

. L L
1 e 1 AT . o
gr(x,x’; w) _ 5 [ezklx ' ;/0 /0 dadxy ezk\x z1] T(:L,17x2; w) ezk\m 2| ‘

(119)

e >0 <0000 00000000 OODDOODOO

Pu(z) = tw) e, (120)
g (v, 2 w) = ! H(w) eF@=a) (121)
v
- i (L L A ,
tw) = 1- 7/ / drydag e T (1), 295 w) €72 (122)
v Jo Jo

e /<2< 0000 DODDOODODODODOOODDOO

bulr) = & 4 T(w) e (123)
7,7 w) = o [eikx + (W) e—ikx] e~k (124)
v
~ i L L ikx ikx
o) = L [ [dndne Mo e, 2)
v Jo JO

OO0 (121) 0000000 GreenOOODODOOOOOOOOODOODOO

tw) = ive @20 gr(z 2/ w), x>L, 2 <0. (126)
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16 0O00O0OOI(0DOO0O0ODOODOOOOOO0OO)

Obooo0booobooboboobobobo0obbO0bDbOUD Hamiltonian
H="Ho+V OO

> ernchen V =Y Vikche, (127)
K Wk

0000000 Gren00000000000000000000000
() = —i60(t) ({en(t), ch}) (128)
(iaat - ek> Glalt) = 803+ 3 Vis G0 (129)
Fourter D000 H,OOOOO GreenO O GY (w)=[w—e+i0] ' 00000

W) = GV(W)ow + GV (W)D Vi, Grw (W) - (130)
k1

000000000 G=G,+G,VG 00000000000 70000000
Zk/(u)) = Ggr(W) 5kk’ + GgT(W) Tkk/<W) Ggf(w), (131)

Tkk/(w) = Vi + kakl Gg’;(w) Tklk/(w) . (132)
k1
0000000 sO000000000000000000V,,,000 /{J,k/DDDD
Ogo0o0O00ooosuooooonoa V(T)ZU(S(T)DDDDDDD
1

Vi = — /dr eV (r)e T =

N NO ODOO0OO0O0O or DO .

(133)
V+VGV+VGVGV+---00000(133)000000

v
N Y

(132)00

T(w) = LG} + (G + ] = JUV1—U1G5(w)’(134)

= \

_ ;;Gg(w 72 (135)

€k+25

O0000Gyw)0ODOO0O00000000000 GreenOOOOOOOOODO
s0000000T,wOODOODOO0OO0O0ODO00(134) 000000 kAKODOO0D0ODO

Tw) = [ae—PD g = LY de—a). (130

€+ 10
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ggbbbuooobbbooooboobbboooobbboooo

v 1 v etdw)

T(w) = — = — — , (137)
N [1—2}P/dewp(_6)6] + imvp(w) N ‘1_UG6(W)‘
1-— vP/de ple)
cosd(w) = _w=€ sind(w) = —va&)) . 138
() ‘l—ng(w)‘ () ‘l—ng(w)‘ (138)

D000POOODOODNDNwODOOODOODODODODOOOOOODOO
00 p(w) 00000000 phase shift §(w)0 w0 0000000000000
0000000000000000 we 0000 [1—vReGh(we)] =00000
00000000000 000000000070000000 unitary 00O
T (wres) = —i / {NTp(wres)} D00 0 d(wres) = 7/200000000000000
000 w,0000000000000000000000

1—UP/HEJKO — 0. (139)

— €

0000000000000T(w) 0D w=w 000000000000 wv<00
000000 w=w0000000000000000000(w)0 w=wyO0O
gooobd ~000O0
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17 00000 (00OD0O0OO0O0ODOOODOO0)

000o0ooooLoo0é00O0O000000000O0 100000000
00000000000 00000O0D00000£0Schrodinger 00000
h2 d2 L
— o o5 0@) + Y v d(r—x,) p(x) = €o(x). (140)
n=1

2m da?

00000000 2, <% < 2py D0 ¢(z) = Ane*™ + B,e~** 00000000
k= /2me/R*0z <00z, <2z 00000000000 A,B,O0A,,B, 0000
t=2,000000000000 =¢(z,+0")=¢(z,—07) 000

Ay et 4 Bie ™ = A, e 4 B, e (141)
00000000o(40)00d =, 0000D00OCOOOO0OOO
dg(z)

dx

do(x) 2m vy,

z—xn+0T T—xn—0F

it z=2, 00000000 0000O0O0O0OOOOOO
ikAy, €% — ikB, e % = (ik + ay,) Ay_1 e — (ik — ay,) By e, (143)

0000 o, =2mu, /K20 (141)0 (143)000000 A,_1,B,10A,,B,000
0002x200000007,000000

A, _ (A, R 1 [ 2k —ia,, —ia, e 2k
( >=Tn< 1), T, = — , . (144)
B, By 2k 10y, ei2ken 2k +iav,
go00ooooooooooooooooooooooonoooon
AL ~ AL—l ~ o~ AL—Q
(BL> L(B“ A B (145)
~ ~ (A
= T, Ty - T4 ( 0) . (146)
By

000 det7,=100000000000000000001000000000
ooy, OO o
z, 000000000 LO0O00O0ODODOD(40)00000000DOOOO0O0O0O
O0v, 0z, 000000000randomJ00000000000O0Orandom 00
00000 L0000000000000000D0gxe 000000000
gobooooooboobobo¢ooooobbooboboobooooboooDbog
O00000D0D0O0O000Db0b000000d Anderson0 000000000
ggbbboodgbbbuodobob-oobobbboodobbboooobbod
gogbbobuoooobboooobooboood
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18 Anderson Model

Anderson Model 0 0 0 O HamiltonianO OO OO OO

H = 7_(cl + Hcond + 7_(mixa (147>

Hd = Z Ed dldg + UTLdTTLdi y Hcond = Z €k CLUCIW s (148)
ko

7_(mix = \/_Z (Vk dT oCko + Vk*ckcrd ) . (149>

O0000ne =dld, 00000 c0d0000E,00000d00000000
ooouO0doondn CoulombOO0OHea UOODOOODO0O00O0O00H,,0Od
gbobobobobooooooi1bobob Unitary OO0 oooooon
OO0000Hw O Hepa OO OOOOOOOOOOO0OOOOOO

Huix = Y v(dbay, + al,d, ) (150)

g

Heona = Z [Z €n Q na Apo

N-1
( UpoOny1o + aL+1Jano)1 ; (151)

n=1

1
Uauf = kackaa V¥ = NZWHQ . (152>
k

Unitary 00 a,, = Sy ux(n)c,, 000000 {a,,, aly} = 0o 0000
DO0(152)0 v00000d000000000«00000000000000
000000 He 00O00000D0000000(151)0000000000
D000000000000000000000000 Heq 30000000
O hopping0 00 10000000 mappingU00OO0OOO0OOe, v, 0000
w(n)0000000000000000(151) 0 Heeng D n=10000000
000

Heona |1) = @ll) + nf2), [n) = a, |vac) . (153)

0000000000000000000 (W|n) = 6,,0000 (149), (152) O
00000000000

1
€1 = <1|Hcond|1> = 1)27]\72616“/;‘427 (154)
ks
1
vial [vac) = Heona 1) — €1|1) = U\/Nzk:(ek — &) Viiel [vac) , (155)
1
vf = mzk:(% —a)? Vil (156)

000 Heona|2) 00 €2, 1, wo(3) 000 0000000000000000O
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19 Tomonaga-Luttinger Model

0000000000 10000000000 Ospin lessd Tomonaga-Luttinger
model 0O OO0O0O0OODOOHamlitonianODOOOOOOO

Ho = (Ho)o = 3 (e = 1) [l = {cha] . (157)

H] — 2szck+qclt/ Ck/Ck (158)
qkk’
(ls7)DO000C0CCOCOOO0OOQOODDODOODOOOOODOOCOOOODODODOOOO
gbooooboobooboobbuobUdUdFermienergyd 000 ooon
O00FermiO0O k=4+k, 000000000000

Hy = ZUF (k— kp) [ ala, — (afay)o | + ZUF — k) [BLb, — (bfby)o | (159)

000 a(by) 000 (0)000000O0O0OO0DODOOOODOOMR9) O kODODOO
0000000000000 00D0D000000000000O000D0 00 Fermi
energy 0000000000000 -o<k<+oo000000O0DOO0OOO
O000OCO0OO00O0O0O0O0O0oOoUOgg()yiggoooooooogogd
Fermienergy OO0 O0OO0000O000000 k+q~ tkp, k' —q >~ tkp, K ~ Lk,
k~+k,, 0O0O0O0OO0OOOOO

Hy ~ 2L ZV—l— Z Vq Z+ Z Z + Z chch_qck,ck.

q~0 q~+2k kevkp  kee—kg Kok Ko~—kg
(160)
¢~0000000Kk0KODOD00DODODO0ODDODOODDOOODOOODOO
D0¢g~+2,00000-k,000000 k,0000k,000000 k0
0000000 (0000)0

Hy = Hy + Ho + Hi, (161)
qakk’ qkk’
Mo = 57 Sakigbloyboa + Z Db @iy i by (163)
akk! L
= 9 T T g1 1- T
Hl — i bk+q/,2kF ak’/*q+2kF bk./ a/k; + ﬁ k+q +2k b /7q/72kF ak‘/ bk‘ (164)

q'kk’

000 (164)000¢q = ¢ £2k 000 00O Tomonaga-Luttinger model 0 0 00O
000000000 M 00000H,OH,O000000D0(162)-(163) 0000
O000000000000000 FourierOO pi(p), po(p) 0000000000
goo
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pi(p) = [akp — o {akar)o ] (165)

p(p) = ;[ — p0 (blby)o | - (166)
googo QDDDDDDDDDDDDDDDDDDD(159)DDDDDDak,bk
000000000 —co<k<+ocoOO0OO0ODODOODOOODOOOOOOOOOO
oot bonouoo oot buoobououooa
Jdooooonoogooooogobonogoouobo 200000 oooogoog
DDDDDDDDDDDDDD(normalproduct)DDDDDDDDDDDDDDD
(163),(162) 000 0000000000000 0OO (k) 00000000000
gooooooogoogno

e = T3 n( T 2 ) me) + o1 (O + (0]
(167)
Hy = 23 00 nald) + X o) pilp) + Fpu(00pp(0) . (168)

(165)-(166) 00000000 {afa)o = O(kp — k), (bLb)o = 0(kp+k) 00000
0000000000000000000000000

Lp / Lp
E(spp’ , [Pz(_p>a Pz(p)} = gépp : (169)

U000 beseO0O0ODOODODOOOOOODOODOOOp>00000000000

(D), pr(—P) ] =

2 2
C, = i p1(p) , Ccl = In p1(—p) (170)
2 2
C—p = fp p2(_p) 3 Cip = fp p2(p) ) (171)
[C,. CL] = 6 [C, Cy] = G (172)

00000000000000000Hamiltonian0 000000000000
00(159),(165)~(168) 0 0000000000000

[10), Ho| = veppi(p), [pa(=p), Ho] = veppa(=p),  (173)

[ ou(p ,H4} = Gwpppi(p) . [ pa(=p)s Ha| = Gwppps(=p),  (174)

(p). He| = Bovrppap) . [pa(=p). He| = Gevpppi(-p).  (175)
000 gs=g4/(2mvp) , G2 = g2/ (2m0p) -
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gobbbuooobbboooobbbuoobb v=1,200000

pe) = 73

p>0

gogbbobuoooobbboooooobogoobboboooooboo

(m@nm—%memem). (176)

p.(p) = pi(p) + pa(p) p;(p) = pi(p) — p2(p) - (177)

O000000000000(176) 0000000000000 Tomonaga-Luttinger
model 0 0 Hamiltoninan OO Hy, = Ho + Hs + Ho, DO DO OOOOOO0O
00000 Heisenberg 0O O OO0O0O00O(173)-(175) 0000000000000

0 0 L
&Pc(f’;:t) + UJ%PJ(JEJ) =0, vy = vp(l4+g1—g2), (178)

9, 0 S
E/OJ(Ivt) + UN%pc(xvt) =0, oy = vp(l+ga+ge) . (179)

(1I73) 00 0000000000000 0oooooooo0OoOooooO (1900
000000000 model00O00OOODOO(78)0¢t00OD0O0ODO(179) 000000

62 82 ~ ~
(atQ _U§W>pc(x7t) :07 Uﬁ = U;Un, Ui = Ur (1—}-94)2_9%(180)

py(z,)000000 v,0000000000000v,000000v,0 vy 0
v 14+ 94— go
/U:K/U, v :i, K = — . 181
P YK, e
O0000000000000000000000 (wy =1,2)0
r 1
X:WDDDD—DDDDDDDDD-DDDDDDDDDDDDDDDDDDDDD

D) = 200 non - o0 [ 200 Y

= 2350 + 60 7 ([ [00), Han] L n(-p)]) - (189

000 PauliODO £ 00000

A e i AR FRH B A

(183)000002000000 |p,(p,t), Hro| D0(173)-(175) 00000 p,,(p, 1)
00000000y, (p)0000000000000000000x4,0 x3,0
000000000¢t0000 FowieeO0OOO0O0O0O000000000O0O00O
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3 : 1 r _ _ﬁ
{wr - vpp<coshg01 + sinhp T ) }X (p,w) = 27r1’ (185)

1+g 101
cosh p = ( +§3 Sl (K + Kp> , (186)

1+ 94)% — g5 p

) g2 1/1
he = = - |—=-K,| . 187
T Jurar-g () e

(1I8s) 000000000 d Cp,CipDBogoliubOVDDDDDDDDDDDDD
000 coshpl + sinhpr! = exp(e7!)0 bose 000000000 DOOOO

1 1
exp (SD; ) 77 exp <¢;> = 7. (188)
O00000ooooooo@g) ooooooooooog
1 1
exp <¢; ) {w7'3 — vppl}exp <¢2T> X (p,w) = —%1. (189)

BogoliubovO OO OO exp (7' /2) 0000000000000 OODOOOOO
[ Y, ] [cosh(g@/Q) sinh(¢/2) C

" (190)
sinh(¢/2) cosh(p/2)

L, ct,

cosh(p/2) = ; (\/1? + \/?p) , sinh(p/2) = ; (\/1? - \/?p) . (191)

0000 x'(p,w) 00000000 (189)000

Tt T
X (pw) = — 2 exp (2] L D) 7+ DL (p) 1 | e (=2
2T 2 2
—~ —;{Di(p,w) ™+ D’ (p.w) (coshpl — sinhpr!) } - (192)
m
1 1 1
. ! N ‘ 193
:I:(pvw) 2<w_1)pp—|—26 W+Upp+25> ( )

00000 ¥i(p,w)ODOp,-p, 000000000(192)0 400000000

K, (v,p)?
T, (w+1i0)% — (v,p)? )

Xe(p,w) = D xulpw) = (194)

000000 limxi(p,0) = K,/(r,) 0000 1200000000 200000
p*)
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000000 (177)-(178) 000 J =ev,p,000000-00 (J-J)000000

: K, (v,p)?
Kipw) = - T (w+id)? — (v,p)?* (195)

00000000 KuboOOODO o(p,w) =[K"(p,w) — K"(p,0)] /(iw) DO OO
K, iw

T (w+1i0)* — (v,p)?
00000000000 Reo(0,w) = e?Kyv,6(w) 00000 Fourler 10000

o(p,w) =

(196)

) = [ opyem
B @zervp 1 1 ipe
0 2T 2

eﬁawm

27 c

000000000 d0w —-000000000OU0O0OUOORODDOUOOUOOO

e? e?

~ T ;
w—vp+id  w+ v,p+id

(197)

00 Oboson 000000 Hamiltonian 000000 (173)0 (17400000
O000O0H,0 (167)0000000000000000000 H,O (173)0
0000000000000000000

Ho = 205 o0 ) + 28 S pl0) o) + 2 L [0 (00 + {0a(0)1] L (199)

p>0 p>0

00000000000 (173)0000000000000000000000%H,
00000 HO00000000000000M,0bose000 C,,C1, 0000
O000000 Hamiltonian0 OO ODO0O0OODDO0OO00OO0OO0Op>0000000
00000000

,F[TL = ﬁo+H4+H2
- UFEZ[ 1+ p «1c;+wﬂ¢cxg-+§2@§cip+wiﬁc;ﬂ

p>0

=Y {Cg C_p} vpp(coshgol - Sinh(pTl) [g’; ]+Z(1+§4)UFP
-p

p>0 p>0

= Y op(, +97,) + AFs . (200)

p>0

AEgs = Y [1+a)ve —v,|p. (201)

p>0
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0o ~,00Bogoliubov I U (190) 000000 bose0O0DODOO0OODAEgs OO
gogbbbuooobbbuoooobbod

2mup {p2(0)} + o1 (0)} | 94 {2(0))* + {m(0)}* | 9y

Ezero + ZPQ(O)pl(O)

L 2 L 2
= 2 g O OR 5 0) o)
o A
_ 25 [UN{pQ(O)Z p1(0)} +“J{p2(0)_4 m(O)}] . (202)
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